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1. Jeremy plans to go on a cruise 4 years from now. He will need $7500 at
that time. What principal should Jeremy invest now at 8.4% per year
compounded monthly to obtain the required amountz

2. Rami invested money at 3.6% per year compounded semi-annually.
He received $12 387.21 at the end of a 6-year term.
How much interest did Rami earn?

3. Suppose you are solving a problem involving compound interest.
How do you know whether to determine the amount o present value
of a given sum of money? Explain.
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1. What is the inferest earned on $350.00 invested 4 years at a 5% simple
interest?

2. If T put $1500 into my savings account and earned $180.00 of interest af
4% simple interest, how long was my money in the bank?
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~-3:~What-would my final balance be if T put $650 in the bank for 60 months
with an interest rate of 6%?

4. David invested $1000.00. What would that money grow to in 18 months
at a 55% interest rate?

i

5. My final balance after 48 months was $896.00. If T originally put
$800.00 into the bank, what was the interest rate?

6. How long would it take me to earn $139.50 of inferest at a 6% interest
rate if T started with $930.007
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Materials
« scientfic calculator

“The quarery interest
rate is § of the annual
interest rate.

“Tezer invests $3000 for 3 years in a bond that earns 6% per year compounded
quarterly. How much interest does the bond earn?

Solution

Substitute P = 3000, = 2 = 0.015,and n = 3 X 4 = 12 in the formula:
A=P1+i)

A =3000(1 + 0.015)"2 = 3586.85 Press: 3000(0] 1
‘The amount after 3 years is $3586.85.

To determine the interest earned, subtract the principal from the amount.
3586.85 — 3000 = 586.85

‘The bond earns $586.85 in interest.
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1. Vishnu borrows $4500 for 3 months at an annual rate of 7.5%.
What amount will Vishnu repay at the end of the 3 months?

2. Nancy invests $10 000 at 5% per year compounded semi-annually.
Determine the amount after 3 years.

3. Refer to question 2. Will the amount double in each case?
a) The principal invested is twice as great, $20 000.
b) The interest rate is twice as great, 10%.
 The term is twice as long, 6 years.
Justify your answers.
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(OEZITIE| what principal should Yvete invest today at 4.6% per year

compounded semi-annually to have $6500 three years from now?

Materlals
= scientific calculator Solution

‘The semi-annual interest rate is £ of the annual interest rate,

soi =29 = 0.023.

Interest is compounded 2 times a year for 3 years,

son=3x2=6.
p— Isolate P, then substitute A = 6500, i = 0.023,
Substtute then and n = 6 in the formula:
=g A=PO+iy

A
=P R e (111
a+ir Rl Trr L
P=A(L+i)"

= 6500(1 + 0.023)~6 Press:6500 R0 16 003 M) ) 6 BT

5671.00
Yvette should invest $5671.00.





